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Sin 26

X Sin20= 2Sin®-C0S O

¥ Sin29= dQ1omp









'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

QAX0s20= 14 1. If 2(cos?0 - sin?0) = 1 (0 is a positive acute

3 cos20 =1 angle), then cot0 is equal to :
2
1
S (0520 = Cos§o (a) -./3 (b) 3

20 = 6¢" (c) 1 \(9)/\/5



'COMPLETE |\l:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

sin’0 - 2sin’6

2. The value of sec?0 - 20050 - c0s0 is :
a] 1 (b) 2
(c) -1 (d) O

= Seds - Sis (Laswtsy-
COS’S (2(-0§7 : :

==
=1

Sey._ +au,?

:@ S



ATHSKI prr all gg 2. ¢ BY ADITYA RANJAN SIR

Z98intck = (0S 2« (7T i
3. 1-2sin2| *0| =7
G S
(a) cos 20 (b) - cos 20
(c) sin 20 ~(d)y - sin 20

= Cosof A ¢
\
~ COS o
(%_*l-ls)

o= Sin?e



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

_:\_-'"'WzG - (0s26 o
L++om'6 1-tan?22
4. Find the value of 2 s 1S :
_ 1
5 C°SQ’(”2) 1+tan222%
= s ysg
T W - ¥ N
2 a) —
2 J2
1

(€ 5 (d) /3



e AMATH SER L A R T sy ADITYA RANJAN SIR

Cws30 =G 1-tan®15°

5. The value of m‘ 1S
(a) 1 b) 3




Sin2® = X SINB-C0SH




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

= Sin-:J.-Cos-ll,z'- cosis 1° 10
-2 6. sin7_ sin82— cos15°=7?
<@ s s 7] s Aautan™
= 1lx g . 1 1
. 2 SIh 15" cos 15 (a) 5 \(/b‘)/ g
- -5’( XS'ln\s'.(°s®
Y N30 \%1’(2\‘:-% (C) Z (d) 16



L AMATHS O e T O 5Y ADITYA RANJAN SIR

. 1 1
= (_Ql._ . Sin 30 6. sSin 7— sin &_ cosldS? = ?
= _h.x_L =L 2 .

2 8 1 1

1 1
(€) (d) 16



* X = SINO-CoSH . C0S20- COS UD-
— |

.QL‘X Sin20 -C0S28 - cosue

1 x SinYo-cosvp :_ésm B8O

Yy
¥ X= Sind- Cosx. Cogau - DsYU- Cos 8

)3. Singo

1!
o

——
L)

h

1

| s
I N 16y



Q. A= SinlbCoSlo LS20- WSO OSE

y
g <_2L> ¥ Sin 160



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Y & cotx-tanx =7

(&) 2 cot 2x (b) 2 cot?x
(c) 2 cot? 2x (d) cot? 2x
= LO0se - Sinp
Sing COSG
= Q’((COSIQ S"L
2 —2100) _2x (0520 -
Sing. %SL S0 = 20t




'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: | 5v ADITYA RANJAN SIR

C05206 = QL0S°O- | S
=) (140s20=QWs?p

J2++/2+2c0s40 =7

(a) cos0 (b) sin0
dejJ 2cos0 (d) 2sin0
j \\Q+\r§('*c057‘9)




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

' = oL 1
1+ S22 5+‘1’ 9. If sin2x = 5 then the value of (sinx +
) sm79+cos"e+a\siw:% cosx) is :

) (Sing+wse)? = € 7 4

= (a) (b)
:3 S V V5
£y e
& \f @ s



¥ sSin2x-=_1 Sinx - wsx =1
5

4

-) —sin?2x = —_L_
S

9 4- Sin2x=1- _|
S

:) (S"“Yﬁosx)')* L(
> - TS
Slnx-%s“: M

N2

S\

X —23'|nx (0S¥ ~ i
S



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

- sin20-3ws2e -2WSY6 9. Find the value of tan6(l + sec26)(1 +

- Cos8p sec40)(1 + sec80).
= S—"“‘w_, (a) tan100 \(B)/tanBO
i hoe (c) tan126 (d) 1
Cos 8p = Feli+sec2e) (1+secUs) (14 sec 80)
- { — S\nﬂ \+_L
% 89 CQ0se cosze)(u-d; ) L
= Sin S\‘e( C
7%(&05‘2@44 - OS88
T C0s?29 (jl(e\"") (0S gg
FW%@Q Y, "8y
Vs fﬁ“@ws"



(0520 = 1-2sin?0

2) &sin? -~ I-¢0s26
=) Sin?g - '-CO\SQG
2
=) Sing® = \-CDs?2Q
2
Ex- SINIS = \lecno
~— IS -Q‘CO\SBO - \— \fé
‘ 2 \"j:
SinL *
™ | 08 Ys




L AMATHS O e T O 5Y ADITYA RANJAN SIR

Sin 22-?! = [1-wsy4s 1
< 11. The value of sin 225 will be :
= | |- ?t;i \/_
V= 2+1
i \['2_ '
2-) (a) V2 -1 b) 7

2 -1 J2 -1
(c) /2 \(9/\ 272



or all govt. exa BY ADITYA RANJAN SIR

1-cosB

B-us 12. If tanA = S 7 then tan2A is equal
tomfA = |- L to:
AE (a) cotB D (b) tanB @D
éﬁ (c) cosB _\Jr_ (d) cosecB (o
*QM2H: ﬁm_&_ 2
\- a2
=~Q(\r2~|§
=) =W2-
‘*(\f?s 2 Q.\ :%(\rz-\) _n _
P -Gy i L8 AT

@ PR gy



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

tom20 = 2+4auf

1-cosB

I=dutA 12 If tanA = g then tan24 is equal
_ ax (I se) , i
= S to:
1= (l-ose 2 (. SO (a) cotB \(p)/tanB
sme) (c) cosB (d) cosecB
i =L "SOOSQ)_ 2U-wea)
. 3 - .S-HTG'
Si 2“- Ine o\ 0 — - = . :
\"\S(}msg)i U-agg) U-Gos ) (\+t§s:\ - T ing
mIQ S’m%’g _(“(QSQ) ALO&Bﬂ'H.QSB
= fs
y



Questions Based on
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36

¥ Sin 36 = 3sinp - UsindQ
£ (oS 30: \4(0539-3(»059

& -
% Bt omp - +ands

I- Bt+aulg



‘COMPLETE |\,l:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

3cos0 + cos30

13. The value of 3sind - sin30 = equal to :
(a) tan®0 (b} cot?0
(c) sin°0 (d) cos®6

= Seth + Ut s*0- 84086

3SinA - .
ng (3 Sind -us',,-,‘ae\




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

14. cos’A(3 - 4cos’A)* + sin’A(3 - 4sin’A)® is

equal to :
(a) cos 4A (b) sin 4A
\(z]/; (d) None of these
(05| 3wsh-Ywgp |, < . _
[ CosA ] + Sinth (:gs‘ﬂs;nzsm'&ﬂ -
- (QS—ﬁ’ [ -
C()sgﬂ
J T3 Irsm'sg]

(0s? 3Q + SiR

@
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Foum3A = SramA- +0u>h

1
= 34tawtd 15 If tanA = —, then tan3A = ?

"2 6) 0 2 11
| - 3X(_|2_)2 (a) e \(P’/_

- 3£_J§ 2 2
B 7 3
i ; (c) 5 (d)
~ 12+ 2 2



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

C0S3x =Uws3x - 3wsx 2
_uy ( %;)3_ e 16. If sinx = 3 » then find the value of cos3x.
g SSC CHSL 15/10/2020 (Morning)
=Uxsls _ 5 (a) 0.6735 (b) - 0.8765
_ {fh ¢y = 0.5797 (d) 0.5678
TSNS (20 -
< e N ) \2 = |- Yy
S(-1 21 ) 7 W3z |4q,
(. 27 )130 (2¢g V- 223
 OR— \S



Miscellaneous



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

A+ -2
e I]aTMn 17. If tanA + cotA = 2, then the value of
tan!°A + cot'®Ais :
(a) 4 (b} 2
then  youmpi | (c) 2 ) 1
“+aw'og
= 1+

D 2% rios'ty = o
@ tQM%Q-HN“{.\ =9

e



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

18. If tan0 + cotl = 2, then the value of
tan™0 + cot™0 (0° <0 < 90°) 1s equal to :

\M/ 2 (b) 2"

(c) 2n (d) 2"*?



{O.MQ +_L = 2
touA

Sng+ 1 -2
SinA

Cosp+ 1 _
(Qgg =2

000



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

19. If sin0 + cosecO = 2, then the value of
sin'%0 + cosec!?0 is equal to :

(a) 1 by 2

(c) 3 (d) 100

Sing



L AMATHS O e T O 5Y ADITYA RANJAN SIR

20. If sin0 + cosecl = 2, then what is the value
of (sin'>°0 + cosec?*°°()?
SSC CHSL 10 July 2019 (Afternoon)
1 253

(@) 153x253 ) 123

153
(o] 2 @) Hos




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

21. If cosO + secO = 2, then the value of cos®)
+ sec®0is:
(a) 4 (b)

8

(c) 1 Jd) 2

Wsp4 | =o
QOSG

Costg 4 _l\

(os¢g



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

22. If secx + cosx = 2, then the value of sec!®x
+ cos'®x will be :

(@) V3
N L

(c) 1
(d) O



‘COMPLETE |\,l:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

2 3
Sec’® - tauw'6=1 @ If secO = 3x and tan0 = _, (x # 0), then

3 (31) =1 | |
’ ( ) he val f9(x2-i) i
D G@-9 =4 the value o <2 | 18
3 SSC CHSL 5 July 2019 (Evening)
7 90%L)s 1 1
x )= 2 1 1
(@) 5 (b) 3

\(ef 1 @ =

4



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

coseCo-wt?e= 1

3
24. If cosecO = 3x and cot) = —, (x # 0), then
3 ax*- 9 =1 —

N ;
1
the value ofG(xz - x_z) is :

SSC CHSL 8 July 2019 (Morning)

CE ® 1

1
(c) a (d) >

3 6x (x’-.l.) - Ax&



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

25. If sec x + cos x = 3, then the value of
tan’x - sin’x is :

NEE (b) 13

(c) 9 (d) 4

Sec'¥ + Cog™x + Qx Sexwhx = g
) o+ -8t

) =q



e AMATH SER L A R T | 5v ADITYA RANJAN SIR

cing+sin®®= 4

) ging = I-Sino 26. If sin® + sin?0 = 1, then find the value of
= ino = '~

cos?0 + cos?0.

<) (Sind 2-_6_2526) \(p(]. (b) 5
(c) O (d) -1

Cos’ + cos'o

- % + Sin?g

o

R |




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

=
-)Ccofoesgtfsgaqé 27. 1If cos® + cos?0 = 1, then find the value of
i - sin?0 + sin?0.

Jday1 (b) 5

(c) O (d) -1

Cosp 4 O = 1



1 3 !

a3 +3a%b 4 3qp? £ 3

1



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Cosh +w0stA= 1 28. If cosA + cos?A = 1, then find the value
. ’
=> of sin’?A + 3sin’’A + 3sin®A + sin®A + sin‘A
+ sin?A is :
(a) -1 (b) S
(2 (d) 1

g

-

3
111



e AMATH SER L A R T | 5v ADITYA RANJAN SIR

Qind+ SiNe+Si°0=L 29, If sin@ + sin20 + sin3@ = 1,

=) sing +Sin*0=I-siNt® then cos®0 — 4cos*0 + 8cos?0 is equal to :
=) Sine (1+Sin'®) = C0s*d (a) 2 (b) 1
D sin’e (14 1-to'e) = coctg (€) 4 (d) 3
%) (1-L0s"s) (2 ~¢o8® 8)" = los g
) (|-(0§ y
VA Kt 0516 ) < oty

Hoghg Yo

— VS 0-Ungly - (net

S0 +H4osh g =




ATHSE«1I): pr all gc

2
|2+\_l'3 + [2-V3 )
2( = equal to :
"2' \“-!+3(3+ H-Qﬁ)
NN (a) cot _
(\F:H) 2
+ (3. )
= | 2 2
2 *\r > (c) Sina

BY ADITYA RANJAN SIR

o
(b) sec

\(g,b/cos 2

1 = 1 ;
30. If 6 =60° then E\/l-l-sme +§\/1-sm9 is

2

o




¥ Sing. sin (60-8). Sin(60+6) =q" Sin30

* C0s@- cos(60-8). (vS(60+8) = Hstze

* 4
Qu o {QM(60-B)-{QM(60+B): tau3p



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

— Sin20- SINUD - Singo- SiNG0 © 60~ 0O 6046
- | Sin 60 - Sin 60 31. Find S oSin@smGOo.Si l
Y
= Lx{3 x{3 :. 1 5
Y 27 o
% (@) T¢ (b) T

.. g L
S 16 d 3



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

i- Sino-SINSD-SINIS 35 Pind 1 - sin10°.sin50°.sin70°.
41— SinI0- Sin(60~10)-Sin(6v+10)

T_ . 5 7
I A @ 3 N
- 1-1x1 = \=-1L =7

y 2 3 )

3 1
(c) 3 (d) 8



O A AMATHS L A R P e O &Y ADITYA RANJAN SIR

:W-SM' 33. Find sin12°.sin48°.sin54°.

- ] .Sin36 .SinSy’ 5 y
Y CSin12) (a) -g (b) ‘g
{.{ «811‘\'3/ g,sasg'
AT o536 3
- 1 1
3 (c) 3 dy g



'cOMPLETE |,F:¥¥ s K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

:— 34. Find sin6°.sin42°.sin66°.sin78°.

Sinsy’
- 118 xsinuaxsinTE) 23 =
Y Singy’ \(9’/16 (b) 16

= L | 4.g
5 [ 4 sest 3 1
20— (c) — d) 2
: 16 8



comPLETE W RN K Cour

govt. ex: BY ADITYA RANJAN SIR

SiN24-sin84 35 sin12°.sin24°.sin48°.sin84° = ?
SN2’

60-0

_S_IL)_Q_S__SM_QD.Q‘L

..L
y

®

SN2

=)

6o0+0

(a) c0s20°.c0s40°.c0s60°.cos80°

(b) sin20°.sin40°.sin60°.sin80°

3 1
© ¢ NG



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

_ '&'(OS us 36. The value of (cos15°.cos45°.cos75°) is :
= LxL 1 1
Yy V2
@ 373 % B
1 V3
(c) g (d) o



x = (0SID - COS20 CLOS UL

— Qx Sini0.(0SI0 COS20 -CLOSUD

2  Sinp
- ixgs"’ 40" (wsys SiNe = 28ins cos §
USing
= Sinq,-
\0: C .
38 Sing: FE#O‘O' : JS(N 0



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

X = WSID 0§20- DS 35 - pp 0 o cos10°.c0s20°.cos40°, then x = ?

= coslo@os20 wsu4o . C0s80

s 8o

: 1 1
= (C0SI0 x_]l .-Cos 60 V! o e o
~®sgs (a) , tanlO (b) o tanlO

-—

CHY X |
.\_ x
Sinly Y 'IQ‘_

1 1
= %%Ho‘ (c) a cotl1l0° \_(d‘)/ 8 cotl0°



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

= {om 60

- f3 38. The value of (tan20°.tan40°.tan80°) is :
(a) 1 (b) O
Ay /3 (d) 3

* Taud- +an6o-g) toun(6+5)= Hoau3g
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= Gomb” touSY -tom66)tomuy2 o418 ‘39, The value of tan6°.tan42°.tan66°.tan78°

tomsy -

is :
tom 18 tam yz Jau18 -
tomsy- \(9/{ (b) %
Lousy
tousy—

00| =

1
(€ ()



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

40. cot0 x cot (60° - 0) x cot(60° + ) = ?

(a) cot26 \jb/ cot30

(c) coté (d) cot4o



Tan(x+y) = _Janx+1an \

|- +Cuﬂx’l'anr

Tan Us +1tan 6




*

*

|+ tomub

|— 40m0

|- om0
't +aug

= tom (Y5+06)

= l:GM(.“S-G)



ATHSKI): or all g¢ PXE BY ADITYA RANJAN SIR

Ml‘ a1 Th I ¢ cosl7°+sinl7° .
i) - THE VATIE O cos17°-sin17°

G

taw L48477) (a) tan 17° (b) tan 34°
tom 69
\(9)/ tan 62° (d) tan 73°

T



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

- [-tomI2
+0m0 o 4. 10 tans = cos12°-sin12°
cosl2°+sinl2°

D tomp = tom(us-127)
> tomd:z tom 33

and (0° < 0 < 90°),

then 0 is equal to :
(a) 48° (b) 24°
(cf 33° (d) 30°



£ Sin(x+y) = s:'nsty+wsxs:‘nr
¥ Sin(x-y) = Sinx wSy—wsxsinr

¥ (0S(x+y) = CosSx sy - Sinx Siny

PR
Qs(x-y) = Cosx tosy + Siox Siny

¥ tom(nty) = M
l““Ow.
¥ 1o X o
(\(~y)_i%.x-*w Y
VHW\\(_
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COMPLETE |\ V.Y ¥ 5 K COURSE (For all govt. exams )

w

v/ :
- Sinf-wsh+wsb sinA +0sB 0sA + SinBsin A sin(B + A) + cos(B - A)
43. —. 9

SinG wsh - WsBsinfl - cosAwsB-sinAsin) sin(B-A)-cos(B+A)

SinB(cosA+sing) + Cos8 (SinA +wsh] \‘a(cosB +sinB b cosA - sinA
Sing [_(osg -I-Sinﬁ] -~ (osB (S'mH -l-u)Sﬂj (b)

Sing - wseB cosA + sinA

= [si . cosA +sinA cosB - sinB

\[mwm ]ﬂ () cosA - sinA (d) sinB + sinB
M [ SInR - $87)
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44. If tan(A - B) = x, then the value of x is:

tanA +tanB b tanA + tanB
l1-tanA.tanB (b) 1+ tanA.tanB

(a)

tanA -tanB tanA - tanB
1-tanA.tanB 1+ tanA.tanB

(c)



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

~ tom (45+x) -
tom (U5-%) 45. tan(— +x)
: 4
. ""*QMX - Cl-l--l-ow‘)() tan(__x)
|~ tamx Cl- o) * 4
It 4+ oy
"1-tanx | " 1+ tanx |
(2) 1+ tanx (b) 1+ tanx

'1-tanx

\9/-1+tanx
1-tanx ( ' 1-tanx

(c)




ATHS DURSE (For all govt. ex: sy ADITYA RANJAN SIR

A+C =
towm (A+¢) = ":GMB 46. If A + C = B, then tanA.tanB.tanC = ?
=) _tomf+tau( = toumB (a) tanA.tanB - tanC
'~ Ao (b) tanA - tanB - tanC
J{¢) tanB - tanA - tanC
(d) tanC - tanA.tanB




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

47. If A, B, C are angles of a triangle, then

= 3 tomfl tanA + tanB + tanC > A
2 —
o HOWTA tanA.tanB.tanC 60
- 30 1 S8
(@ /3 (b) 2 ¢

\(ey'1 d) /3



» 95 xty=z k’“d FauX - Famy. FaMZ

= tomz — ta,uu--l-a,ug O

* 94 D+28 = 36 ‘K“d tomBd 4au20 +an 3

= 1030 — toud - +an26



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

A+ 2x = 3% 48. Find tan3x tan2x tanx .
(a) tan3x - tan2x + tanx

(b) tan3x + tan2x - tanx

\Le)/ tan3x - tan2x - tanx

(d) tan3x + tan2x + tanx



LU R AMATHSELS AT P RCE T  8Y ADITYA RANJAN SIR

48. Find tan3x tan2x tanx .
(a) tan3x - tan2x + tanx

(b) tan3x + tan2x - tanx
e] tan3x - tan2x - tanx

(d) tan3x + tan2x + tanx

X+ 2% = 3x
= tom (A +20) = tOm3x

)  _toux++om?x = tau3x
|- Fomx +am2x

-’) o % + oy = +QM3)L~‘|WN

>

Touly oK

K



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

Au =
x4 P 49. tanSx.tan3x.tan2x =

\(ﬁ)/tanSx - tan3x - tan2x

sinx - sin3x -sin2x

(b) COSOX -c0os3x -cos22x
(c) O
(d) tanSx + tan3x + tan2x




'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

N2 us' ©
\I If A+ B =45° then (1 + tanA)(1 + tanB) is

equal to :
Uaj 2 (b) 1
(c) O (d) 4
<£++QMH)(I'\'+Q.~|B) H A+8 =us
:_l &Xltz “”"\'X‘*WB):Z




e AMATH SER L A R T | 5v ADITYA RANJAN SIR

A-B=-Us " _
51. If A-B=—, then (1 + tanA)(1 - tanB) = ?
45- 0 =ys’ =
(a) 1 (b2
C++amp)(1- +anp) (c) -1 (d) -2
= (140 ( |~0)



©  A+b=135 (1+wtA) (1+wtB) =7
vod N +6 =13S
T I

N
Q0 us

Cl+wtn) (1+eot R)
(ot ag) (14 W+ys )

(i OB(H 1)
X2 _
ad
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- "n - Qgin/C+d).cos/ (=D
% ginC+sinp = &S (—2) (“f)

nl - Si — os/(+D ) sin/ C-D
% Sin(-Sinp = 2¢C (_2) (__2)

¥ COSC+¢oSD = écos(C-£D> cos(g-zg>

¥ 80SC-cosp - - é‘lS'm(
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 flos (Tutsx ws(ﬂxz-Sx 2. Find cos7x +cosS5x 5
. n -
,é'cos('lx+5)9 - Sin(jx-sx) sin7x- sindSx
2
S (56T o5 (a) cot2x (b) cot3x
C/oasrs.nx \(9)/ cotx (d) cotbx

SO Maiag
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Sin15 + Sinl5
53. What is the value of sin75° + sinl15° ?
= & sin(15+1S)- ws [ 15! ) <0171 _Mains
* 2
= 2Sinus’. cos 30° (a) 3 ®) 3
= Ax1x\N3 =
% = NT 3 3
A @ 7



